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Question No. 1 is compulsory.
Attempt any 5 questions from Question 2 to Question 8.

Parts of a question must be answered together.

. '.':é(a) What do you understand by computer program ? 2
oz (h) Briefly explain two uses of the supercomputer. 2
i -.(c) - What is the flash memory ? What are the features of flash memory 2 | 4
“Y.(d) Briefly explain the two primary objectives of an operéting system. 4
w(e) Explain data bus. 2
(/)  Give full form of the following abbreviations : | 3
(/) FLOPS ;
(i) PCB
(iii) CAD

P.T.O.
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(8) Convert the binary number 1001111011 into the following representations : L 4 |
(i) 1's complement |
(#) 2_'5 complement.
(h) What is application software ? Give fwo examples. el
() Explain any one input pointing device. ; 2
(@) Explain the input-process-output cycle. - | 4

(b) Briefly explain the use of computers in Education, Advertising and Government sectors. 6
(@)  What is motherboard ? Explain the booting process when the computer is switched on. 6
(b) Explain different ways to access information from the storage device with example. 4
Convert the following : 10
()  (114.325)4 to (?)g
(@) (DCE.OC)4 to (?),
i) (372.602)g to (?)y
(iv) (1028.25), to (?)g
(v) (1011001.11), to (?)g
(@) Give differences between the following with examples : 6
()  Audio input device and video input device
(1) Hand-held scannefs and flat-bed scanners
(itf) Hard copy devices and soft copy de\;ices.

(b) Explain any two different types of /O ports. | 4



£ | | 1954;
Lﬁ Perform the following binary operation : . | ' 10
| () (10110000.011), — (100010.101),
(i) (1110011.101), + (1100011.001),

7. (a) Whatisan operating system and how does operating system perform memory management

in a system ? : 6
(h) - Differentiate between Disk partitioning and Disk compression. 4
%. Write short notes on the following terms (any four) : 10

()  Bigdata

(i) System clock
(iif)  Throughput
(iv) Google scholar

(v) CMOS chip

1954 : 3 | 800
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This paper consists of 8 questions. Answer any five questions. All questions carry equal marks.
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1. (a) From the market demand schedule given below in the table:

" | Quantity Demand Price

A 100 60

B 200 50

C 300 40
Calculate price elasticity of demand using mid-point formula from A to B and from B
to C. (8)
(b) Explain why is price elasticity of demand different at different points on a straight
line demand curve? (7
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A 100 60
B 200 50
; C 300 40
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2. (a) Consider a market in which demand and supply function are given by the following
schedule:
Qd = 500 - 5P
Qs = 10P — 40

(i) Calculate mafket equilibrium price and quantity.
(ii) Calculate the effect of a price ceiling of Rs. 30 on quantity demanded and quantity
_supplied. Is there an excess supply or excess demand? (3+5) "

(b) Distinguish between movement along the demand curve and shift in the demand

curve. (7)
(37) T SR BT 7T E g were A Ry g

Qq = 500 — 5P

Qs = 10P — 40
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3. (a) Explain consumer equilibrium with the help of indifference curve and budget line.
Show the effect of'rise in price on consumer equilibrium in a case of giffen good.

®)
(b) What is Price Consumption Curve (PCC)? Show the derivation of demand curve
from the Price Consumption Curve. . @)

(31) ST 9sp Td goTe YT @ Weral | SuHiddr Fqes @ e
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4.  (A) You are given the following information: _
Output 0 1 2 3 4 3 6
Total Cost 12 17 |21 26 |32 |40 50

(i) Calculate Total Fixed Cost (TFC), Total Variable Cost (TVC), Average Fixed Cost
(AFC), Average Variable Cost (AVC), Average Cost (AC) and Marginal Cost (MC)
from the above table. |

(i)If the price of output is Rs. 8, how many units of output will this firm produce?

(ii) What is the total revenue? Will the firm operate or shut down in the short run?
Briefly explain your asswers. (7,3, 5)
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(a) What are the usual shape of short run average cost (SAC) and Short run marginal
cost curve (SMC)? Can the SMC curve rise when SAC is falling? (5

(b) Derive long run average cost curve from the short run average cost curves. Explain
why long run average cost is flatter than short run cost curves? (10)
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(a) Explain producers equilibrium with the help of iso-quants and iso-cost curve. (8) -

(b) Distinguish between returns to a factor and returns to scale. @)
(37) THSTUTE dsh Ud H WG dsh. D] HEIIAl 9 Jcdrad el Bl quie
HINTY |
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(a) Explain why resources are allocated efficiently among firms and output is
distributed efficiently among households in perfectly competitive markets (10)

(b) What are consumer surplus and producer surplus? With the help of diagram, explain
how consumer surplus is calculated. (5)
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Write short notes on any two of the following:
(a) Production Possibility Frontier
(b) Law of diminishing marginal utility
(c) Paradox of value
=1 § 581 < wx st feuoh farfag
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(1.5,7.5)
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1.

(a)

(b)
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This paper consists of 8 questions. Answer any five questions.
All questions carry equal marks.

T T T8 e F 2 | e wie yv & 3w Aferw
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What is production possibility frontier? Explain how each of the following situations
affects nation’s production possibility curve:
(i) A technological innovation allows nation to produce more of one of the goods

(ii)  Prolonged recession increases the number of unemployed workers in the nation

(iii) The quality of education in the nation’s colleges and universities improves
greatly.

Explain the central problems of an economy. How does a mixed economy solve these
problems?
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(a) Suppose that market demand and supply of cheese are given below:
Q4=40-5p
0,=10p—-20

(1) Determine the market equilibrium price. How much quantity will be sold at
equilibrium price?

(i) What will happen to the quantity demanded and quantity supplied if
government imposes a price ceiling of Rs. 3 per unit? Would there be excess
demand or excess supply?

(b) Explain consumer equilibrium with the help of law of equi-marginal utility in a case of
more than one good.

(@) wR & " R gl wem A R T
Q,=40-5p
Q,=10p—-20
(i) Wl IWR Stad 1 o S | e #eg ) et qer 3=t st ?
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What is price elasticity of demand? What are the factors which affect the elasticity of
demand? Prove that on a straight line demand curve price elasticity of demand varies from
zero to infinity.
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(a) Draw budget line on the basis of following information given below:

(i) Suppose the price of X is Rs. 5 and the price of Y is Rs. 10 and a household has
Rs. 500 per month to spend on both goods.

(ii) Assume that the household splits his income equally bctwcen X and Y. Show
where the household ends up on the budget line.

(ili) Suppose the price of Y falls to Rs. 5. Sketch the new budget constraint facing
the household.

(b) Explain consumer equilibrium with help of indifference curve and budget line. How
will rises in income affect consumer equilibrium? What is income consumption curve?
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(b)
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Discuss the concept of diminishing marginal rate of technical substitution. What does
it imply about the likely shape of iso-quant curve?

How does a producer attain equlhbrmm’? Explain using iso-quant and iso-cost line.

wﬁgmwﬁmﬂmaﬁmaaﬁmmaﬁwaﬁmlﬁwm ;
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6. Calculate Total Fixed Cost (TFC), Total Variable Cost (TVC), Average Variable Cost
(AVC), Average Fixed Cost (AFC), Average Total Cost (ATC) and Marginal Cost (MC)
from the following table:
Output 0 | 2 3 4 5 6
Total Cost 20 30 35 45 60 80 110
(i) Suppose market price is Rs. 20. How much will the firm produce in the short run?
What are total profits?
(u) Suppose market price is Rs. 15. How much will the firm produce in the short run?
What are total profits?
frafafea sreft # & TFC, TVC, AFC, AVC, AC 3R MC &t 7T sifse
FeqreT o vk 2 3 4 5 6
FeT T 20 30 35 45 . 60 - 80 110

@

(i)
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7. What are the essential features of perfectly competitive market? Discuss the long run

adjustments that are likely to take place in response to short-run profit and loss in
perfectly competitive market.

i faEft Sem F eevas Rt wE-dE €2 qof shrnht s ¥ sevw
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8. Write short notes on any two of the following:
(a) Consumer surplus and producer surplus
(b) Economies and diseconomies of scale
(c) Pareto efficiency.
P % & forl & W Wi frogot HifST:
(a) SUHIH T IeEH AN
(b) T F == ik rEEq | |
(c) T FErew | | 7.5,7.5
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1. Describe the expenditure method of estimating the national income of a country?
Distinguish between national income at market price and national income at factor cost.
(10 +5)
el Sa1 1 TE A A JeRTod e A 2 fafy @ avfa RS aeR feat w
WER™ 314 (national income at market price) @ HRE WP W TET 31 (national
income at factor cost) & HLT el TUE AfFT

2.(a). Calculate APC, MPC, APS and MPS from the consumption .function:
C =28+ 0.94Y. Are they constant at varying lends of income?

(b).Calculate autonomous investment expenditure multiplier when autonomous investment
increases from Rs 500 to Rs 550. (7.5,7.5)

(a) 3UHNT ol
C=28+0.94Y ® APC, MPC, APS a2t MPS I a1orar IfarT| @ 3ieTT—alenT oy U
$D1 A9 ReR Y& 87 599 & o Y a0 e ¥ uEr 3R 3wt A snavewar
grefr?

(b) = Farm fAA (autonomous investment) 500 ¥. ¥ TEHT 550 T. & ST Al Trgw
A < o Hr o AifSw)



3.(a) Find the equation for equilibrium level of national income in an open economy. What is
the net leakage in an open economy?

(b) Let C= 30+ 0.80Yq4, T=50, [=60, G=50 and X= 50- 0.05Y, all in Rscrores. Find equilibrium
output and net export balance at equilibrium output. (7.5,7.5) - '

(a) T Gelr 3rfcaaean & 3ma & Weg &R &g TR wg A gell yrdegaear &
@ae REma (net leakage) = AT £9

(b) I AT C=30+ 0.80Y,, T=50, 1=60, G=50 F2T X= 50- 0.05Y, |3 s sugt & @
3cUE T §H 3G W e @i wege wa i)

4. (a). Explain the determinants of demand for money.

(b ). Assuming a single bank economy, suppose the initial deposit is Rs. 1000, required reserve
ratio is 10%. What is the maximum amount of loan the bank can sanction? In that case find out
the value of money multiplier. (7.5, 7.5)

(a). Fgr & 7 & YRS B wHSIET

(b). #re =hfSiw T fnelr womer-do arefemrawan (single bank economy) # URTPHF FHAT 1000 .
& JUT ETE HRER T (required reserve ratio) 10% ¥ &% & gRT w&iga T o1 Ty
arelt FoT A i IR T ¥ 30 R F o (money multiplier) @ A W
ERIE Y

3. Derive autonomous expenditure multiplier for an economy with proportional income tax
system i.e., with a tax function T= T, +tY, where, T stands for total tax, Ty for autonomous

component of taxes;'t for fixed tax rate and Y for GDP. Compare it with autonomous expenditure
multiplier with a tax function T= Tgand comment. Assume there are no transfers. (7 .5,7.5)

SIS HFSH GOTel (proportional income tax system), 3T, FR weT T= Ty +Y (el T
o B8, Ty # & T (autonomous) e ¥, t&T & T X &, G241 Y, GDP &) arelt v
FICATEAT ¥ F&AT STY IOTH (autonomous expenditure multiplier) gcUest ST saefr
e T ®ele T= Toarel Ffcqaedr & @ @29 o ¥ AT g feogol AT #
ST 6 EFaearor (transfers) & ¥|

6.Explain the mechanism through which change in money supply leads to a change in GDP.
What factors might limit the effectiveness of an expansionary monetary policy? (10,5)

mﬂmﬁmﬁmGDPﬁmmm#m%mml
mﬂﬁﬁm%ﬁmﬁmaﬁﬂa@mmﬁmmﬁ?(mﬁ)

7. Differentiate between linear and non-linear consumption functions and the nature of

autonomous expenditure multipliers associated with each of them. What factors may cause the
consumption function to shift?(10,5 )

mammﬂwmammﬁmmmwrﬁrmﬁmmm
HAT| 3T Foret 3 B-Be PR RwHT TS 52

8. Write short notes on any two of the following: (7.5, 7.5 )

a. Determinants of money supply
b. GDP deflator



c. GDP gap

eafoiad # & el & W dfdm RoaPrl Rk (7.5,7.5)

a. FeT B AT & fAuRSDeterminants of money supply
b. GDP 3mFhifdesres (deflator)
¢. GDP 3eaue (gap)



pAIN|Ie =)

. This question paper contains 2 printed pages. . Your Roll No. .....couuueueirnnes '
: ?
;',XSI; No. of Ques. Paper . 7820 ' GC B.AI( P) fs ; Feunm
Unique Paper Code : 62031102
Name of Paper : English — A (Advanced English)
Name of Course : B.A. (Prog.)
Semester : 3 |
Duration : 3 hours
Maximum Marks : 75

ﬁﬁﬂrwurRaﬂNo.mmmp'iwnaﬁm@ on receipt of this question paper.)

Attempt all qdestions.

1. Imagine you attended a Freshers’ Welcome Party in your college. Make a diary entry in
about 150 words describing your experience. | _ .10

2. Write a paragraph in about 150 words to highlight the increasing air and noise pollution
levels.in Delhi. The paragraph must also contain suggestions for reducing pollution. 10

3. Read the following passage, extracted from Mahatma Gandhi’s writings and do as directed
after the given passage:

What is the duty of the Hindu towards his Muslim neighbour? His duty is to befriend him
as man, to share his joys and sorrows and help him in distress. He will then have the right
to expect similar treatment from his Muslim neighbour and will probably get the expected
response. Supposing the Hindus are in a majority in a village with a sprinkling of Muslims
in their midst, the duty of the majority towards the few Muslim neighbours is increased
manifold, so much so that the few will not feel that their religion makes any difference in
the behaviour of the Hindus towards them. The Hindus will then earn the right, not
before, that the Muslims will be natural friends with them and in times of danger both the
communities will act as one man. But suppose that the few Muslims do not reciprocate the
correct behaviour of the many Hindus and show fight in every action, it will be a sign of
unmanliness. What is then the duty of the many Hindus? Certainly not to over-power
them by the brute strength of the many; that will be usurpation of an unearped right. Their
duty will be to check their unmanly behaviour as they would that of their blood brothers.
The application will be exactly the same if the position is reversed. From what I have said
it is easy enough to extend the application with profit to the whole of the present state
which has become baffling because-people do not apply in practice the doctrine of deriving
every right from a prior duty well-performed. (269 words)

Directions:

P.TO.
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(a) Make ap;propriate notes based on your understanding of the passage. o)

(b) Write a summary in about 90 words to bring out the essence of the passage and give it i
a suitable title. , 842

Imagine a vacant post of sales/marketing executive in ABC Company has been advertized {
in a national daily newspaper and you want te apply for the same. Keeping in mind the |
eligibility conditions and other requirements as advertized by the company, prepare the |
following:

(a) Your Resume/CV for submission to the company 10

(b) A covering letter addressed to the manager of the company. : | 5

Imagine you are a candidate for the post of President of Students’ Union of your college
and the election for the said post will be held at the end of the month. Write an informal
common letter in about 150 words to be e-mailed to those student voters who have gone
out of station appealing to them to make an effort to be in the college on the polling day. 7

Imagine you are the secretary of the Commerce Society in your college and, as part of its
activities, the students of Commerce stream want to make a visit to some industrial/
commercial workplace in or outside Delhi. Write a formal letter to the Principal of your
college seekmg his/her permission to visit the specific place of visit on the date as
recommended by the Commerce Society. 8

Write a review (in about 200 words) for your college magazine on any recent film that

“conveys a strong social message. 10

6800
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'I3'. Discuss the geographlca] dlstnbutlon toa] typcs and subs1stence pattern of the Neolithic

';_;_ cultunes of Indla
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9. Evaluste the achievements of the Kushanas.
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10. ‘Write short
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Attempt any five questions.

All questions carry equal marks.
frdl ufg wv & IW AR
Wt Yl % A% gHA ©)
1. Assess the importance of various sources for the rgconstruction of early Indian history.
WRivs wd sfoem #@ gRew & fau fafvs 9kl & mew @1 gedied

HifeTd |
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Dlscuss the main features and geographlcal distribution of the Palaeolithic cultures of India

Wwﬁaﬁg@ﬁmmmmwmﬁw
it |

Write an essay on the'society'and religion of Harappan civilization.
mgwmﬁw'qéaﬁmwﬁﬁgﬁr@ﬁl

Describe the political conditions during the Vedic period.

dewwr # TR uRfefeEl @ faao R

Assess the factors nesponsiiale for the rise of territorial states in the sixth century BCE.
i o Yo § e T § Sed @ FRel ® Ree SR
Examine the society and economy as reflected in the Sangam literature.

Tm wfew § whfsfe gow qu e w1 whew wfE

Describe the fegtures of Mauryan administration.

A W & ygE fodmaei @ faeww difa

Give an account of the ach‘ievement; of Kanishka.

HTsh H Syl H foEe i |

Discuss the features of Satavahana polity and architecture.

wmwwawqa‘mgmaﬁaﬁﬁﬁm_
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Write short notes of any two of 1he‘ following :
(a) .Dccli‘ne of Harappan towns
(b) Megaliths
() Buddhism
(d) = Ashoka's Dhamma policy._
Freafafen & ¥ fe & ™ dfaw femfoel fafed
(%) T5omE TR w1 -
(@) werrs
(M) @
(%) el H o Afd)
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_AnsWers may be wrltten ezther in Enghsh or in Hmdl but the same medmm should be
used throughout the paper.
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-,’mm@ﬁ@mmﬁq t

Attempt any f ve questlons

Al questlons carry equal marks, -

WWM%WW:
mﬁwﬁ%eﬁmm%s

Cntlca.lly assess the nnponancc of archaeological sources for the study of ancient Indian
hlstory y .

WWW%&W%@W%%W@W
WWI

P.T.O.
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Discuss the main features and geographical distribution of the Palaeolithic cultures of India,

ity | | '

Write an essay on the society and religion of Harappan civilization. -
mum%w'ﬁuﬁm@ﬁﬁ?ﬁ?@l

Describe the political conditioﬁs during the Vedic period.

skt F worifow el w for AR

Assess the factors responsible for .the rise of territorial states in the sixth century BCE.
% O Rt d meE T B s @ el # e s
E.xamine the society and ec‘;)nomy as reflected in the Sangam literature.
wwﬁzaﬁsrﬁrﬁmmamaﬁwaw'mqﬂw o |

- Describe the fegmres of Mauryan administration.

U Y % owE faeware @ e HIEeH

Give an account of the ach‘ievement; of Kanishka.. |

HTh w Iwelwd w faEe Wi

Discuss the features of Satavahana polity and architecture.

AT TR T aRgEe @ wel Fif



(3 )

10. Write short notes of any two of the following :
(@) Declipe of Harappan towns
(b) Megaliths
(¢) Buddhism
(d) . Ashol;a's Dhamma policy.
frofafen § & fbdl @ w dfiw feoforal fafad
(F) Tgw T W T
(@) HeTTH
(M) g
(9) sl & g9 Sifdl

7847 | 3
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Describe the, extent and. town |

. - Review the social and economic- conditions of the early Vedic period. =

. .'.~‘Wr1te a note on the llfe and mam teachmgs of the Buddha

-'@ﬁﬁmwmﬁmmmﬁmﬁmeﬁf@m
B ¢ Outhne the 31gruﬁcance of the Megahtlnc qultures of Indla_
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1 o Dlscuss the features of Ashokas Dhamma.
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-. Evaluate the achievements' ,of the Kushanas.
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[This question paper contains 4 printed pages.]

Sr.No. of Question Paper : 1962 GC-3 YourRell No...oesseis
Unique Paper Code : 62351101

Name of the Paper : Calculus

Name of the Course : B.A. (Prog.) Mathematics (CBCS)

Semester |

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any two parts from each question.

1. (a) Discuss the existence of the limit of the function f(x) = [2x—1] at

1
X =3 (6)
(b) Examine the continuity of the function at x = 0 for

1

x—e; = x#0
fix) = 2
( ) e* +1
1 x=0
Also state the kind of discontinuity, if any:. (6)

(c) Examine the following function for differentiability at x =0 and x=1:

x> x<0
f(x)= 1 0<x<l1 )
I/x x>1

RT.O.
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2. (a) IfV=r" where > =x?+ y? + 22, show that

o’V N o’V @'V

oy + 57 =m(m+1)rm_z. (6)
(b) If cos™ (sz log[ij , prove that
b n
Xy, t (2n+ 1)x Youy + 20%y = 0. (6)
3 3
(c) If z=sec"[X L § ], prove that
X+y
x%+y§;—=2cotz. | (6)

3. (a)_If the tangent to the curve \/E + \/—g =1 cuts off intercept p and q from the
- a

axis of X & y respectively. Show that P +% =1. (6)

a

(b) Find the point where the tangent to the curve y =x*-3x + 2 is
perpendicular to the line y = x. (6)

(c) Show that the radius of curvature for the curve

x = a(0 + sinB), y = a(1 — cosb) is 4a cos(0/2). (6)



1962
4. (a)

(b)

5. (a)

(b)

6. (a)

Find the asymptotes of the curve

X} + x%y — xy?— y? + 2xy + 2y? = 3x + y = 0.

Find the position and nature of the double points on the curve

'+ -2+ 3y —at=0

Trace the curve

X3(x? +y%) = 4(x* - y).
State and prove Lagrange’s Mean Value theorem.

Separate the intervals in which the function
f(x) = 2x3— 15x2 + 36x + 1

18 increasing or decreasing.

x> x* x*

Prove that log (1+x)=x—~+%—%+..., for 0 <x<1.
2 3 4

(6%2)

(6%)

(6%2)

(6)

(6)

(6)

State Cauchy’s Mean Value theorem. Give its geometrical interpretation.

Also verify Cauchy’s mean value theorem for the functions f(x) = sin x,

T
g(x) = cos x in the interval [_E’ O:I.

Find the minimum and maximum value of the function x*.

(6%)

(6%2)

E T,
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. sin3X-—-asinx ., . .
(c) If }(1_{13 = is finite, then find the value of a and the

limit. (6%)

(1100)
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Si. No. of Ques. Paper . 1985 GC-3
Unique Paper Code : 62321101

Name of Paper : Introduction to Political Theory

Name of Course : B.A. (Prog.)

Semester 3 |

Duration : 3 hours

Maximum Marks x15

(Write your Roll No. on the 1op immediately on receipt of this question paper.)
6 T¥-93 & MMed & R G2 FEifa @6 ) e sgamE e i)

NoTE:— Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

fewit—s@ yoAwT 1 I A a7 (5T [ wF 9 F A IfeT G I I ey
T% & g1 T

Attempt any four questions. All questions carry equal marks.

‘fﬁ'mwﬁ%aﬁfﬁﬁm Yl ¥ & HF GHAT §

1. What is politics? Discuss the power view of politics.

TeHIT T R 2 il & it gfewo @t fad=er s |

2. What is political theory? Discuss the nature and si gnificance of political theory.

mﬁtmﬁmavmwm%%%?mmﬁqmm%ﬁrqamﬁm
FIFST |

3. What do you mean by hberty" Describe positive and negative liberty with suitable
examples.

Wﬁmwmﬁ€f7w%wwwmmm
foa=mr SifeT |

4. Analyse T.H. Marshall’s theory of citizenship.
HoTgo Afer & ArIfiwar & fagia 1 favarmo wifw |

5. . Elaborate the concept of participatory democracy.

mwnﬁﬁm’aaﬁmwnmavhﬁﬁm

P.T.O.
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6. Discuss Rawls’ theory of justice and its critique.

mamm@mmaﬁmml

7. Discuss the notion of welfare state. Examine its relevance in the context of hberahzatlon

Wﬁnﬁmaﬁaﬁmaﬁﬁﬁamaﬁﬁmmﬁwm%mﬁﬁmmﬁmm
e Hif |

8. Write short notes on any two of the following:

(i) Democracy and economic growth

(i1) Deliberative demociacy

(iii) Natural Rights

(iv) Gender.

et # & e @ W wifi feferal frfi
(i) e T e e

(i) femrelf e

(iii) WTplde TSR

(iv) SeX |

6500



(This Question Paper contains 2 printed pages)

Your Roll No. ..cviviiiniininnnnnnnnn,
CE71 e ag
S. No of Question Paper ........00 .. ..........
LRSI B O 6 2 | o
Unique Code No. : 62321101 -
I+ Dre : 62321101 F (7
Name of the Course t B.A (Prog)
UEAHH ST AN : 1y . (W)
Title of Paper Introduction to Political Theory
Semester/Annual : Ist Semester
TaeR / aiffe : Bmﬁvéﬁm
Time: 3 Hours Maximum Marks: 75
g : 3 "HUS

Ui : 75

(Write your Roll No. on the top immediately on receipt of this question paper)
(59 v @ ferd €1 o Ry Y FeiRa e w emEr s Rk )
Answers may be written either in English or Hindi but the same medium should be followed
throughout the paper.

3 UFUF D1 SIR AT A1 B 6 v wmr A Qe of o SRt &7 Aaege
U%H B BIAT AR |

Note :

Attempt any four questions.
All questions carry equal marks.

5 grvusl @ Sar afvg|
i U=l @ 3P THHE B

. What is politics? What are the various approaches to the understanding of politics?
Discuss. :

RIGHI &1 27 IS B IR @ fo RS S @ 22 fde i

“Democracy is the best form of government”. Do you agree with this statement? Give
reasons.

“eNepea WaTH ANET YOIl & |7 9T 1Y 39 $UT & HeEAd 27 HRYl qai |



. Critically evaluate Issaih Berlin’s classification of liberty.

éqmwaﬁviﬂzr%?aﬁam%wﬁmﬁmaﬁwwmaﬁmi

. Critically examine Rawls’ theory of justice.

ﬁwﬁwﬁ@amaﬁaﬂmmqﬁwaﬁﬁm

. Distinguish between Liberal and Marxist theories of state.

W%WﬁaﬁvwmﬁﬁWWﬁﬁﬂm

. Elucidate the major debates on the notion of rights,

IFR | wag A= et w yem st

. Can censorship be justified in a democratic system? Comment.

T AAS Faven § FeRR =rafe 27 ool @i |

. Write short notes on any two of the following;
Frfeafen & & e & w wfera Raof frfay -
a) Feminist view of power
AR BT ARIET gfesi
b) Affirmative action
HEHRHS BT
c¢) Distributive justice
faeRoTeTs g
d) Democracy and economic growth.

S aile anffe
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Roll No.
S. No. of Question Paper :. 7857
Unique Paper Code  : 62111101 GC
Name of the Paper : Foundation of Psychology
Name of the Course . B.A. (Prog.) Psychology Discipline
Semester e |
Duration : 3 Hours | Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(30 97-7 & foerd & s faw e feffa e w e s fafaa 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

ﬁmﬁ:ww—wwwaﬁﬁﬁm%ﬂw@wﬁﬂm;ﬂﬁmﬂﬁﬁﬁ
& WY TEh @ B SR |

Attempt A/l questions.
[qet g & IW AR |

1. Define Psychology. Is psychology a science ? Justify your answer with suitable examples. 5,10

ﬁﬁaﬁﬁqﬁwﬁaaﬁﬁq;wﬁﬁmﬁ@ﬁaﬁ%?mmﬁ
WY H9Y IW W Siifew fag wifsw |

Or
(3reram)

Discuss the origin and latest developments in the field of Psychology. Describe the case study
method of Psychology. 7.5,7.5

THEEE % &9 H qW oK B % we sy W == wifvu | gifaeE 3 g
sieggE fafy &1 9vfF swifse |

- P.TO.
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Define perception. Using suitable examples, explain the Gestalt principles of perceptual
organization. 5+10

UROT 1 IR RIfT | STgE SIE H YA FE STHURVRHS e §

TRee fag[l = = sifst |
Or
(3rgran)

Examine the principles of classical conditioning. How can classical conditioning be applied in

everyday life ? 10+5
Wwém@ﬁmqﬁwﬁmlﬁm@ﬂwﬂmﬁﬁﬁg

4 o fe s owwar ¥ 2

Define motivation. Discuss the sociogenic motives in detail. 5,10

WON ® GR9 HIT | g e W famr @ vl i |
Or
(3reram)

Explain the concept of emotions, and how do we experience them ? Discuss the emotion
of fear. ' 10,5

mﬁﬁm@mﬁmﬁmﬁﬁmﬁﬁaﬂmmﬁ%?w
H AT W = wifSe |

Define personality and explain its nature. Describe the psychoanalytic theory of personality
in detail. 7,8

ki =l TR FifSe R SHd @&y 1 = #ive | fawar @ =g
éﬁﬁ?ﬂwmmmﬁaﬁﬁq |

or
(3rer=m)

Define intelligence. Explain Sternberg’s theory of intelligence. 5,10

Ffeaa # wfenfom wif | wdat & gfeman fasic #1 oren witg |
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5. Write short notes on any two of the following : ) 7.5,7.5
()  Experimental method |

(i) Infonnaﬁon Processing Model
(iif) Operant cbnditioning
(iv) Improving memory. |
frafafed & 4 ffdl & W dfea feo forfam
() s fafy
) O HEEA e
(i) TR Sty
(v Hfa ¥ gur |

7857 S 3 600
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[This question paper contains 4 printed pages.]

Sr. No. of Question Paper : 1307 G Your Roll No................
Unique Paper Code : ES-2014

Name of the Paper : Environmental Studies

Name of the Course : Undergraduate Course Compulsgr}f & Qualifying
Semester 1

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

I. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

BEl & fow A&

1 mm—w%ﬁaﬁﬁwﬁvmﬁufﬁawwmwml
2. T dier we & I ARt |
3. wft w i & iw e ¥

4. TE UST-9H FT I aﬂaﬁm%ﬁﬁ?&wm#ﬁﬁv,ﬁﬁﬁmﬁaﬁﬁwmw
8 B =R

1. (a) Fill in the blanks : (8x1=8)
(1) .___ is a primary pollutant.
(@@ —  _and_______ are the two hotspots of biodiversity in India.
(iii) Conservation in natural habitat is known as

(iv) Temperature increase due to pollution is called as

P.TO.
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)

is the organization which publishes Red Data Book.

(vi) Ozone layer in

protects human from UV radiations.

- (vii) Algal blooms are caused by

(vii) is an example of cold desert in India.
(b) Expand the following (any seven) : (1x1=7)
(i) WWF (i) SPM (iii) IPCC
(iv) CNG (v) CFC (vi EIA
(vii) EPA (viii) CPCB (ix) MAB
(x) CBD
() Rea = wRy
(i) — v wrafiew v 2
(ii) 3 WRA # St - fafdue & @ wrm ww #
(iii) Srpforer s F WM W wmy ¥
(iv) T @ FRoT A N g W ey ¥
(v) T X 32T T &1 TR Ft 2 |
(vi) ¥ e A W e W WA ol @ T 2
(vii) Frarer =1 famwor @ TR B 2 | '
(viii) HRA A T e T ISR R |
(&) fo=et 7 =1 qof w7 ford
(i) = 3= ww (i) v @
(i) 3 & & & (iv) & o <0
(v) & vw & (vi) § g @
(vii) € @t ¢ (vii) & Gt & |

(ix) @ ¢ & (x) & &
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2. Write short notes on ‘any three’ of the following : (3x5=15)

(i) Greenhouse effect
(i) Levels of Biodiversity
(iii) Habitat loss
e ¥ A el o W aftr Rowt ford
(i) =Ra & w1
(i) wa fafear = R
(i) smaTE &l

3. Differentiate between the following : (3x5=15)
(i) Grassland ecosystem anld desert ecosystems
(ii) Biosphere reserves and national parks
(iii) Biosphere and atmosphere
FefoRaa ¥ iR e oW
(i) ek TRe 3T Teed aiRe
(i) = wew Wfew &F 3R TEE 9
(i) Sawed 3R AgHSA

4. What do you understand by global climate change ? What are its major
causes ? Briefly describe some clean energy alternatives to overcome global climate

change. (15)

frzaed T TRadT A AT T TS F 7 5 IR B T FROT RN B ! HS
Forfeqs @D ol @ R ¥ Ta RFd Fizeend weEy aRads W R amn e |

5. (a) What is noise pollution ? Discuss the sources and effects of noise pollution ?
How can noise pollution be controlled ? (8)

P.TO.
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6.

8.

(b) Discuss the effects of acid rain on agriculture. (7)

() AT ¥ e 7 et g & A sl wia w1 ey s
R foFE yoR & P g o aehar @ 7

(@) P W swig aut B goEr @ R ik )

(a) Write a short note on resettlement and rehabilitation of people with reference
to any one case study. ®)

(b) Is construction of dams beneficial or harmful ? Discuss. (7)

(F) v @ W%W%ﬁ%ﬁwﬁmmwmw‘
ferRer |

(@) sl o1 Feior R 2 soran e 3w ? e SR )

(a) Describe the various stages of succession on rock or water. (7)

(b) Environmental laws and Acts in India are inappropriate. Discuss. (8)
(F) wer (frer) ok oo & & ¥ s @ AR sro @1 T SR |
(=) Wﬁmmwﬁmﬁmﬁw%?ﬁwﬁﬁm

Describe the scope of environmental studies for human welfare. (15)

AFE FE oY TR FEAAT W v - @ @ qui S |

Ve

(1500)



